
miRBase precursor : hsa-mir-3135a
Total read count : 55
hsa-miR-3135a read count : 55
remaining reads : 0
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((((((.((.(((((((..(((.(((((((((.((.......))))))))))).))).....))))))))))))))) reads mm sample

.........ugccuaggcugagacugcagu............................................... 1 0 Z2_

.........ugccuaggcugagacugcagug.............................................. 3 0 Z2_

.........ugccuaggcugagacugcagugU............................................. 3 1 Z2_

.........ugccuaggcugagacugc.................................................. 1 0 Z1_

.........ugccuaggcugagacugcagu............................................... 1 0 Z1_

.........ugccuaggcugagacGgcagu............................................... 1 1 Z1_

.........ugccuaggcugagacugcagug.............................................. 14 0 Z1_

.........ugccuaggcugagacugcagugU............................................. 2 1 Z1_

.........ugccuaggcugagacugc.................................................. 7 0 GDM

.........ugccuaggcugagacugcagu............................................... 1 0 GDM

.........ugccuaggcugagacugcaguA.............................................. 2 1 GDM

.........ugccuaggcugagacugcagug.............................................. 7 0 GDM

.........ugccuaggcugagacugcagug.............................................. 7 0 GDM

.........ugccAaggcugagacugcagug.............................................. 1 1 GDM

.........ugccuaggcugagacugcaguA.............................................. 2 1 GDM

.........ugccuaggcugagacugcagugU............................................. 3 1 GDM

.........ugccuaggcugagacugcagugC............................................. 3 1 GDM

.........ugccuaggcugagacugcagugC............................................. 3 1 GDM

.........ugccuaggcugagacugcagugU............................................. 3 1 GDM

.........ugccuaggcugagacugcagugU............................................. 3 1 GDM

.........ugccuaggcugagacugcagugC............................................. 3 1 GDM

.........ugccuaggcugagacugcagug.............................................. 1 0 Z3_

.........ugccuaggcugagacugcagugU............................................. 4 1 Z3_


